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< If the radius of cylinder is increased by 25%

then by how much percent the height must
be reduced, so that the volume of the

11 cylinder remains same ?

(a) 58 (b) 42
(c) 36 (d) 62
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A= < |If each edge of a cube is increased by

03
@ 50%, the percentage increase in the
@ - 9 surface area is -

(@) 50% (b) 75%
3 (c) 100% (d) 125%
O+bt Qb
H= SOt+&py S§r ¢
\fy S0/ < O%]‘
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[v=2bh] STt 81 IS Smaa & g1 arelt wfowra 3fS wma

A -

Q - h V=Ab K < The length, breadth and height of a room in
5

o} > the shape of a cuboid are increased by 10%,

20% and 50% respectively. Find the percentage

| S 3
%%«x W (a) 77

increase in the volume of the cuboid.

(b) 87

\(c) 98 (d) 55
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If y is 20% more than x then by how

much% is x less thany ?
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< If xis 5 times of y then y is how much %

less than x ?
X H’ o e x, yA5TATE My, x A fPat % FHE?
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e 8 af B &t AT A Bt I A fFa

& A PIGRICE 2§ &
@ 15D < If A's monthly income is more than
that of B. How much percentage of B's
f 3 income is less than that of A?
/—L"Lxlm, 9
Vi 83
p .‘[ (a)20 (b) 28

4
%B - (d) 25
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<+ The price of sugar has increased by 60%. In

2 XI55 order to restore the original price, by which
= 3% (-9': [ percent the new price must be reduced ?

DEL (b) 37 % %
(c) 40% (d) 60%
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“ Ram obtained 31% marks in an
examination, and failed by 18 marks while
Shyam obtained 43% marks in that
examination and obtained 54 marks more
than the required marks to pass, then Find
the total marks of the examination and

RS TS THaT § 31% 3@ I $IdT g, 3R
- g1 91T § Wafe e 39
TE I A(54)9® e
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@ <+ A student has to secure 45% of marks to pass
an examination. He gets only 50 marks and
l{S'I- = 54 fails by 4 marks. The maximum marks is -

(a)110 A9 120

(c) 135 (d) 150
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< A student scores 20% marks and fails by 35
marks, while another student scores 50%
marks which is 32 more than the minimum
marks required to pass, then find the integer
marks of the exam ?

2 U@ faemdf 20 % 3i® wre Hvar g SR 35 i@l
¥ vl 81 wran B, wafd guT faemdf 50%
3% WTe BT & Wil Il g1 & g smaza®
YAdH P! | 32 4P g O udien 1 quiie
I A ?
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2 wﬁmﬁaﬁuﬁ&nﬁmﬁﬁ%ﬁmmﬁ
(50% 3w arfeyl faemdf 3 50 3@ wra
m mﬁﬁﬁﬁq«ﬁaﬁzﬁmmﬁ

SoZ% <of 50 ®H ¥ | WY-UF H quiies g1 2
- N < A student is required to secure at least 50%
T SoOTYg foss marks in order to pass an examination. He
secured 50 marks which were less than the
SO'/" %{ minimum pass marks by 50. The maximum
[ = marks of the paper are -
,/ = (9\
0 \m{oo (b) 250

(c) 275 (d) 300
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<+ In an examination 35% of the students
/\ passed and 455 students failed. How many
S5/ c< I 65} = les students appeared for the examination ?
P 27
gf, (2)490 5700

(c) 845 (d) 1300

- 76D
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< In an examination, 40% students passed in

*

% Mathematics and 35% passed in Chemistry.
= léb 15% students pass both. If 120 students
|— Z have not passed in any subject then tell the

total number of students?
p—@
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